Multiplication de Deux Binomes (A)

Simplifiez chaque expression.

1 (=7c—"T7)(7¢" — 7c*)

0. (=82° — 92%)(—42° + 2%

D

3. (9h* — Th)(2h + 2)

L (=3nt — 9n®)(—Tn* — 4n?)

(=4n +1)(9n* — 6n?)

Ot

6. (4f —4)(6f°+TFH

-3

- (82% + 3x)(=5x — 3)

(=2p" +5p°) (—2p” + 3p?)

08

0. (9" — 3¢9")(—64* — Tg)

10. (—44" + 7¢°)(6¢° — 7q)
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Multiplication de Deux Binomes (A) Réponses

Simplifiez chaque expression.

1 (=Tc— 7)(705 — 7Y
= —49¢% 4+ 49¢4

0 (=82% — 927 (—42° + %)
— 3220 +9282° — 924

3. (9h* — Th)(2h + 2)
= 18h3 + 4h? — 14h

1 (=3n* — 9n®)(—=7n* — 4n?)
= 21n® + 75n" 4 36n°

(—4n + 1)(9n* — 6n3)‘
— —36n° + 33n* — 6n°

(@

6. (4f —4)(6f°+TfH
= 2410 447> — 281

7. (82 + 3r)(—5z — 3)
= —402° — 392% — 9x

5. (=2p" +5p%) (=2p” + 3p)
= 4p" — 16p° + 15p°

9. (9" = 3¢")(—64" — Tg)
= —6¢" + 11¢° 4+ 21¢°

10. (—4q¢* +7¢*)(6¢* — 7q)
= —24¢° + 70¢° — 49¢*
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